TN 5 AEREE RN R TR ARG R (A7 - A)

¥ B 4 X SHEANE EREE ZRE orE ANFEH
HERE 14 21 21 14 14
HiH 39 90 86 55 44
et o A7 A THF % 7 71 71 11 2
FAE R 7 14 0 0 0 0
i 60 182 178 30 60
HEE 17 19 19 17 17
A 46 84 79 64 47
HEER R v b TR % 7 72 72 25 10
B TAE T4 0 0 0 0
it 70 175 170 106 74
HERS 11 17 17 11 11
HiH 29 60 58 41 32
ERE T LFE % 1 5 117 117 11 2
FAE R AR T4 0 0 0 0
it 45 194 192 63 45
HEfE 17 37 37 17 17
A 46 166 150 62 54
IEH Y AT LR % 7 142 142 7 4
B TAE T4 0 0 0 0
it 70 345 329 36 75
HERS 14 15 15 14 14
HiH 36 106 95 52 41
BB - B TR % 1 5 47 47 5 1
FAE R A T4 0 0 0 0
i 55 168 157 71 56
HEfE 11 17 17 11 11
A 26 67 65 34 29
£ TR % 3 14 14 3 0
BT T4 1 1 1 0
gt 40 99 97 49 40
HERS 10 29 29 10 10
A 23 87 84 33 29
IR G TR % 2 17 17 2 0
FAE R A T4 1 1 1 1
i 35 134 131 46 40
i 94 155 155 94 94
i 245 660 617 341 276
TRk % 36 480 480 64 19
T 7 a4 2 2 2 1
&t 375 1,297 1, 254 501 390

R (R 0 (XRAIRR A L CUR =, R — G & LI,
AN 5 AR TR sk R (G ) Bk (BAL /)

< i HRE >
o A R
v R A B e | s | TR
Kbk s 27 b TR 1,100 664 489 556. 9
HIBE R R v b TEF 1,100 689 479 535. 3
B EA LR 1,100 655 514 578. 2
G AT L LFR 1, 100 728 563 608. 9
RE - SR T R 1,100 692 482 548. 9
LR TR 1, 150 752 624 661. 1
[ 3K 5L TR 1, 150 829 666 717. 6
[ KFEAFIHIET X B [ERIESES
¥R 4 - —— = - =
ol I B AL F AL A DRSPS it A I 5 F A AR SEHE A
b s AT W T5F 650 441 305 381.2 450 265 96 175. 8
HIBE TR v b LPE 650 435 314 377.3 450 273 70 158.0
EREL LFER 650 446 327 392. 6 450 267 110 185. 6
WY AT b LR 650 453 358 408. 7 450 296 121 200. 2
R - SR T R 650 457 314 368. 3 450 288 115 180. 7
W TR} 700 506 377 430. 3 450 307 171 230. 9
[ 3K 5 TR 700 506 413 452. 4 450 348 192 265. 2
<% BRE>
. o KFEAFIHIET X B
=% N
TR A R T B M T
ks AT I LR 1,200 920 829 871.8
HIBE TR v b LPE 1, 200 928 795 834. 8
EBREL LR 1, 200 870 825 842.5
[EH S 2T LR 1, 200 894 872 883. 4
BRig - ARSI T R 1, 200 895 877 884. 8
R TR 1, 150 893 829 861. 3
[ 3K 5 T2 1, 150 889 874 881.5




